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o ENGLISH VERSION

1 (a) Find out the following ratios from the balance sheet 15
of 'Yash' Litd. as on 31-3-'15 and additional details
given to you :

(1) Stock turnover ratio

(2) Ownership ratio

(3} Rate of return on capital employed
4) Creditors velocity ratio

(5) Rate of return on equity capital.

Balance Sheet of Yash Ltd. as on 31-3-'15

Liabilities Rs. | Assets Rs.
Equity Share Capital 6,00,000 | Fixed Assets | 7,50,000
P & L Account 1,70,000 | Stock 1,75,000
8% Debentures 2,50,000 | Debtors 2,00,000
Bank overdraft 3,00,000 | Bills Receivable 50,000
Creditors 1,G0,000 | Cash & Bank 2,445,000

14,20,000 14,20,000

Additional Information :
(1) Cash sale is 25% of total sales.
(2) Stock on 1-4-'14 is Rs. 1,25,000.
(3) Debtors ratio is 120 days (Consider 360 days of
the year).
(4) Gross profit is 40% of sales.
(5) Net profit (before interest and tax) is Rs. 3,00,000.
(6) Rate of taxation is 50%.
() Give the meanin_g of management accounting and 5

write its functions.

OR
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records of Nilkanth' Ltd. :

Total gales (out of which 20% are cash sales) ... Rs. 10,00,000

Costof goods sold ..o Rs. 8,00,000
Equity sharecapital ... Rs. 2,650,000
15% Debenture .......oocooviiii e Rs. 2,00,000
Debenture diSCount ... ..o Rs. 5,000
Net profit (After 50% Tax) ......ooooiiii s Rs. 40,000
Retamed earning ... Rs. 52,000
Sundrey debtors e Re. 85,000
Proliminary eXpenses ... ...cccovveeiormeisinineia e Rs. 20,000

From the above information, calculate the following
accounting ratio :

(1) Operating ratio.

(2) Debtors ratio (360 days for year).

(3) Rate of return on sharholders funds.

(4) Rate of return on total capital employed.

() What is Management Accounting ? Explain its 10
advantage and disadvantage.

2  The following are the Balance Sheet of the Harikrishna' 20
Co. Ltd. on 31" March :

Balance Sheet

Liabilities 31-3-16 31-3-14 | Assets 31-3-'15 31-3-14
Equity share each Goodwill 70,000 75,000
shares of Rs. 10 | 3,75,000 2,50,000 | Building 2,650,000 1,50,000
Gen. Reserve 50,000 1,50,000 | Plant 237,500 1,00,000
P & L Account 30,000 25,000 Investment 30,000 37,500
10% Debenture | 1,265,000 - | Stock 62500 | 40,000
Bills Payable 60,000 60,000 | Debtars 52,600 | 1,22,600
Creditors 77,500 62,600 | Cash-bank 42,500 40,000
Provi. for Tax 42,500 37,500 | Preliminaryesp. | 15,000 | 20,000
7,60,000 5,85,000 7,60,000 5,585,000
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Additional Informations :
(1) On 1-4-2014 Bonus shares at one share for every two
shares were issued by capitalised General reserve.

2) Income Tax of Rs. 50,000 was paid during the vear and
interim dividend Rs. 40,000 was paid during the year.

(3) Depreciation charged Rs. 15,000 on Building and
Rs. 10,000 on plants.

4) A plant having book value of Rs. 25,000 was sold with
profit. This profit was credited to Capital reserve account.

(5) During the year debenture were issued at 10% discount.

6) Closing stock of 31-3-'14 was shown at price which is 20%
less then cost price. Closing stock of 31-3-'15 is shown
at cost price.

(7)  Goodwill was written off against Capital Reserve.
8) Investment of Rs. 12,500 were sold at 20% profit.

Prepare from above information Fund flow statement
and statement showing changes in Working capital.

OR

2 (a) What is Fund flow statement ? Explain its importants. 10
Prepare praforma of fund flow statement with using
imiganary figures. '

() The Balance Sheets as on, 31-3-2014 and 31-3-'15 are 10
given below. Prepare Cash flow statement as per AS-3 :

Liabilities 31-3-14 31-3-'15 | Assets 31-3-'14 31-3-"15
Bquity share capi. Goodwill 1,60,000 1,00,000
(Rs. 10 each) 4,00,000 6,00,000 Buﬂdjﬁg 3,20,000 | 5,00,000
Pref. share capi. Machinery 2,80,000_ 400,000
of 10each Rs. 7 : Investment 80,000

paid up 1,40,000 -| Stock 70,000 [ 1,00,000
Share pre. 30,000 20,000( Debtors 88,000 80,000
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Reserves | 1,60,000 1,00,000 | Bills Rece. 20,000
P& LAl 70,000 1,50,000 | Cash 24,000 22,000
4% Deben, 2,00,000 | Bank 80,000
Creditors 1,00,000 1,20,000
Bills Payable 20,000
Provi for Tax 48,000 60,000
Propo. Divi. 50,000 52,000

19,18,000 | 13,02,000 10,18,000 | 15,02,000

Additional Information :

ey

@)

@)

@

®)

®

RH-9481]

Depreciation Building Rs. 60,000 and Machinafy

Rs. 50,000.

Following the provisions of Companies Act, Pref.

shares have been redeemed at 5% premium.

Rs. 2,00,000 is transfered to Capital redempiion

A/ec from General Reserve.

Debenture have been issued of Rs. 2,00,000 at 5%

discount.

Bonus shares issued from capital redemption all in

the ratio of 2:1.

Paid dividend of previous year and tax paid

Rs. 50,000.

Investment sold, so in such a Way s0 that it

realised 20% profit on sale price.

12
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“ 8 (@ The following ave the details of 'Kinjal' Lid. : 10
Year l Sales (Rs.) l Cost (Rs.}
2014 10,00,000 11,590,000
2015 20,00,000 18,50,000
Calculate from above particulars :
(1) P. V. Ratio
(2) Fixed Cost
(3) Break Even Sales
{4) Variable Exp. of Both Year.
(b) 'The ratio of variable cost to sales is 70%. The Break- 5
even point occurs at 60% of the capacity of sales.
Fixed expenses are Rs. 1,20,000.
Calculate :
(1) Break even sales
(2) Total Sales and Profit
(3) Profit at 75% sales.
(¢0 Explain meaning and utility of differential cost 5
analysis.
OR
3 (@ Explain key factor and margin of safety with 10
illustration,
(b) 'Abhishek' Ltd. produced three product, A, B and C. 10
Information of cost per unit and sales price are as
under :
Particulars A (Rs) B (Rs.) C [EBs)
Direct Materials 6 12 16
Direct Labour 8 8 20
Variable overhead exp. 6 30 14
Sales price 36 &0 96
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~Fixed exp. (every month) Rs: 5,40,000.
Sales units of two months are as under :

Month | A [ B | C
March-2015 (Uniis) 10,600 10,000 10,000
April-2015 (Units) 20,000 13,000 5,000

In the month of April sales are increased but profit
are decreased ? Why ? Explain it.

4 (@ From the following P and L accounts of 'OM' Ltd. 15
Make out Comparative statement with percentage :

Balance Sheet

Dr, Cr.
Particulars 31-3-'14 31-3-15 | Particulars 31-3-14 31-3-15
Costof goods sold | 9,006,000 9,650,000 | Sales 15,25,000 | 17,00,000
Admini. exp. 98,250 95,980 | Interestand.
Sales exp. 1,90,000 2,09,000 | Dividend 7,500 6,200
Other exp. 8,000 7,000 Pr_ofit of
Loss of sales of Investment

machinary 2,500 800 | sales 6,000 8,000
Income tax 85,000 1,68,000
Net profit 2,569,750 283,420

15,38,500 17,114,200 15,38,500 | 17,14,200
(b) What is Budgetary Control ? Write its advantages. 5
OR

4 (@) The two years balance sheets of "Grisha" Ltd. are 10
as under. Prepare Commonsize Balance Sheet from its :

Liabilities 31-3-14 31-3-15 | Assets 313-14 31-3-15
Equity
share capital 2,00,000 2,50,000 | Land-Building | 1,00,000 1,75,000
Pref. share Machineries 75,000 1,25,000
capital 50,000 1,00,000 | Furniture 25,000 75,000
Gen. Res. 50,000 75,000 | Investment 75,000 75,000
P&L Ak 25,000 50,000 | Debtors -1 1,25,000 1,00,000
10% Deb. 50,000 50,000 | Closing stock 75,000 87,500
Creditors 75,000 1,00,000 | Cash 25,000 12,500
Ofs expenses 56,000 25,000

5,00,000 6,60,000 5,00,000 6,50,000

() Describe an objective and characteristics of Budgetary 10
Control. '
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—H @y The following 15 the bitef information related to 10
P & L Alc for the year ended 315' Maxrch-'15 prepared
on a HCA Method of DEV' 1td. :

Purticulars Ami. Rs. Amt. Rs.
Sales 40,00,000
Less: Cost of Goods sold
Opening stock 4,100,000
Purchases 20,00,000
24.00,000
Less: Closing stock (IFIFO) 2,00,000 22,00,000
Gross Profit - 18,00,000
Less: Administrative exps. 3,20,000
Selling and distri. exp. 1,600,000
Depreciation 2,40,000
Int. on debenture 60,000
Provision for tax
(31-3-'15) 80,000 8,00,000
Profit 10,00,000

50% amount of debenture interest was paid at 1-10-'14
and remain amount paid at 31-3-'15.

Price Index : Opening 200, Closing 320, Average 180.

Convert the above statement under the basis of CPP
method.

(b) Prepare statement of cost of sales by HCA and CPP 5
method by using following information of "MANN"

Ltd. :

Opening siock ... Rs. 50,000
Purchase ..., Rs. 5,40,000
Closing stock (ILIFO) ... Rs. 1,35,000

Price Index : Opening 100, At the end 150, Average 125.
(© What is Reporting ? Explain types of Reports. 5
OR
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"5 (@ TFrom the following information of Meena' Ltd. i0
calculate net monectary gain or loss during the
Year 2014-'15 :
Particulars 1-4-2014 (Rs.) 31-3-2015 (Rs.)
Cash 24,000 32,000
Fix deposit in bank £0,000 80,000
Bills payable 16,000 24,000
Bills receivable 32,000 40,000
Creditors 80,006 1,00,000
Debtors 200,000 2,40,000
Quistanding expenses 4,000 2,000
Prepaid expenses 8,000 4,000
General price index 250 350
Average price index is 280.
What is MIS System ? State its definition, 10
characteristics and functions.
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